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Rovo said to him,? 29527 930% nrop — 29937 520% Innop K29 oY AN

Overview

X117 27 qualified s'27 ruling that 7105 2>7Y 182 3"'NXY 01p2 7712 that it applies only to
a case where his admission obligated him to pay something, but if his admission did
not obligate him for any payment that he will be 2> if 2>7v came after his admission.
X217 said that 21 °27 *20% nndp indicating that there was some sort of refutation here
based on the teaching of X117 27, who did not make this distinction of 111277 27. Our
n1voIN offers various interpretation of this X773,

- 5HPNY 927 “9NNRY YITHN HaY DXPNRYN NN 2090092 VIV
>"w1 explained this to mean, X217 said, ‘you (X113 27) have caused pain to the

students in the 7''»7°3, for [you] said something which is not so; I know this -
= DIPNN NTIY PR 7012 DT 297 YN Y127 XMHN 29 XNT

Because 71''%, who knows the teaching of 21 better that you, does not make this
differentiation, which you have made —

nvoIN asks:
= 1PN 10 MAVNA 2INAPY 1195 NN PYH NP MHN INNT D21 AYD)

And there is a difficulty with this translation, for everywhere the term 2% is an
expression of defeating, like the expression, ‘they are coming to defeat me by

quoting various N199:1’; this expression is found -
= (23,0197 VT (3,2 97 PVITRT IV P92

In the second P22 of PPw7TP No0» and in 9% N0~ -
= (3,09 97 PPV SRMPYOA Y29NDD 1339 RNYNY 11N 119)

And like the expression he defeated the three ordained Rabbis by mistake,
mentioned in 9WIA N2ON; so, it is difficult to say that m9°» here means he caused pain -

In summation; according to >"w", the X07°3 is X217 7% K, and the incident was that X217 told 2
X117 that he caused pain to the students, whom he referred to as 27 °27 »20. The difficulty with

U'The "277 N7 amends this to read, ynnop (instead of nnop).
2 The exact translation is the topic of discussion in this Mmpon.
3 See (7) MR "2 N7 and T MR 0"Wh NY0A.
4The "2 M7 amends this to read, N7nXWY (instead of MRW).
5 According to this 17’8, the text in the X113 reads X271 /%% »X, and the term mM9°? means causing pain, and 27 27 820
refers to the students; meaning &27 confronted 111177 21 and said, ‘you caused pain to the students, on account of what
you said incorrectly’.
6 Tt seemed like he defeated them, but this was a mistake, for indeed he did not defeat them.
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»"wI9 is that m»o°p generally refers to defeating, not causing pain.

mooin offers an alternate explanation:
= 7249539 %200 YNNOP N2 9N NIN N2 79D 90N 1°09) NXDT ¥ NN 12 HNINIY 13°39)

And the 2''2w1 explained that the text does not read, 821 7°% 22X, but rather,

'29 927 5205 SNNEP K29 MK’ -
- 29537520 NINY NN 29 NN SNNYY WIND

Meaning that X271 said, ‘I have defeated 8111277 29 who is referred to as 29527 520 -
= PYINY 19 PINY PRY 13191 9N 29 29347 Y192 NPIY KNIN 29 Y9327 NN Y NNIHM

And I proved to him based on the words of X177 29, who knew the teachings of
29 more than him (X117 27) that one should not differentiate the way X117 29

differentiated’ -
= NY¥D 2929 22 99N 0NN YIINRT (avr 3,1 91 PITNIVT NDRP P92 NIRRT X*aM

And the 2"2w" brought proof (that 27 °27 °20 refers to 811177 27) from the first P9
of 1997710 Noon, where the X773 states there; wherever it says in the X713 that SR

29 %2 (the academy of 27 said), it means R1%77 29 said it -
= 29539 %20 D 599 NP N3N 29 NIIN NIN 2WNI 29 %2 Y9N NI 29 9N 77999

And the X3 there asked, how can you say that 27 "2 X means X117 27, but we
find that X137 29 said, 29 %2 392K, so 27 °2 *K cannot be X117 27; rather concludes
the X773, we should say that 27 °2 71K refers to X117 29, so therefore X271 referred
to X111757 27 as 29 927 920 (the elder of s'27 academy).

NN has some difficulties with the o"awA "»o:
= 1Y 9N 09904 IND PAIMY RTIN AYP)H

And there is one difficulty that the 0"2w" erases the word 7°2 “2K from the text -
= £)9927 NN INDY YINN 223 95N 19D TIT PPNT I

And additionally, it is not usual to state, ‘we also learned’ as so and so said, after

his words were refuted -
= I1302 99NRT3 N9 PN P2T RIND 29T 25T T

And additionally, *vX 17 inferred from a mw» and a Xn*92 in support of 29

N1m17, as the X3 states shortly (on this 712y) -
=939 9921 1°HNN RPN NN 2499

" According to *"w1 the 27 °27 *20 (the elders of the academy) refers to all those studying in the 7"n73. However,
according to the 0"2w" he is referring to X117 27 respectfully as 27 727 °20. See “Thinking it over’.
8 After X211 said 27 °27 °20% >nnop that he refuted X113m7 27 (and explained himself), the X773 continues, 21 9K in
support of 811117 27, immediately after X217 claimed that 8111277 27 is incorrect! This difficulty is with >"w95 as well.
® How can we then say that 821 refuted X117 27 based on the view of X137 27 when the mwn and Xn*>2 support 27
X117 and contradict X117 27! This question also applies to *"w79.
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And according to 81377 39, who does not make the distinction which X111177 27 makes,
the mwn and Xn>12 contradict the view of 29 —

In summation; the 2"2w" deletes the word 1°% and explains that 821 said he refuted X1111:7 27 (whom
he referred to as 27 327 °20) based on the view of X117 21. The difficulties here are the deletion of
"Y', the n1 NR, and the Xn»921 73wn which support 811117 2.

mooin offers his interpretation:
- 29534 %209 °0N9P NI 1T 9N YYD NI

And it appears to Md01n to explain the X713 as follows: 'X29 said to him, you have

defeated the 2 %27 %20’ -
= 24929 %20 NIV NN 29 NN NNYI XIIND 299 Xa9 19 99N 91995

Meaning, 829 said to 81112257 29 you have defeated X117 29, who is the 29 527 520 -
- PYN TUNI PYNY YT NY NINY

For he (1177 27) did not know how to differentiate like you differentiated -
= NN 29 NN DN 13929 W99 1199971)02)

And in 9977720 N20n the n''9 explained this which the X773 said, ‘say Nivnm 29 -
= 12349 53 Y9N NIINN 29 AN NIN 29 22 299N NN 29 99N NN XY W99

To mean, do not say, X197 39 said 239 52 >R (which would indicate that X137 27 was
not the 17 72 *nX), but rather say, 81121277 29 said, 29 52 Y%K (referring to X177 27) -

— N1 29 29 %2 59K M0 3 Bnnnn s9v7 ynawvwn 19
And it seems so as the n"1 explained, that also according to the truth the 53 >R

29 is N317 29
= 9INRP N9YN PN NN 291 NN 29 2319 29 22 MNP (0w 3,30 97 M) DIYNAY

For in 9177 779 the X3 stated, ‘who is X137 29,29 92, and X177 21 said, ‘the 71557

is not so’ -
= NIINT RI*N RPIT NN 29 NN 1P9TNI02 9INT NIT vHaY ov PNT ©9919P2Y

10 The n"an niman amends this to read, ¥ nnop (instead of Nrop).
11 X9% 7"7 'oin 3,7, There remains however the difficulty how can '01n say that X177 21 was the 27 °27 °20, when
previously the 0"2w1 inferred from the X773 in 177710 that X111 27 is the 27 °27 X20. '01n addresses this issue.
12 This is the text of the X773 in 1°77710; K113 20 RO ,27 %2 AR RIT 27 MR LRI 27 27 02 R, All agree to the initial
statement (that X177 27 is 27 °27 »1X) and the follow up question (how can X177 27 be 27 °27 1R, when X177 27 said
27727 *nK). According to the o"aw", the answer X117 27 R?X means that we are retracting our initial statement (that
X117 27 is 27 °27 »MR), and we now maintain that 811117 27 is the 27 °27 k. However, the 0" interprets the answer
that we still maintain that X137 27 is the 27 °27 "R, however the statement of 27 327 "MK K117 27 AR is incorrect and
it should read 27 %27 MR X117 27 RN (referring to X177 27 as the 271 °27 " nX). See ‘Thinking it over’.
13 This means even if not for the X3 here (which is better understood if the 27 *27 *20 is X137 27), we have proof from
elsewhere that 27 °27 is X117 27.
14 We see that the X3 assumes that 27 *2 is X117 27, like n"9, and not like 2"2wW1 *"w1 who maintain that X137 27 is
27 °3/°27.
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And '@ there (in 797 p19), forced himself to explain that this which the X n3
stated in 9777730 N0y, ‘say NiMT 29 is 27 °27, which contradicts the Xm3 in 9vn
(which maintains that X137 27 is 27 "2), so *"w1 answers that is only when it is

evident that it cannot be X117 27, do we say it is X127 27 -
= N3N 29 "N 0NN 1529 2 990N NN 29 9N NIINT NN 13907

That when does the X713 in 177710 say that 27 °2 "X is X117 27, where there is a
text which reads '39 92 92K X177 29 9N, there we say that it should read, 239 X
27 92 977K R, but when it merely states 27 °2 it can be X177 27 (as is the case in 9wi) —

nvoIN asks:
= 191102 99N 2 12 ONT VYR

And there is a difficulty, for if indeed it is so (that we can distinguish between X277

12117, or not), when the X ) states in 397710 NO07 that when it says in the X3 -
= 9TYHN 249 XaAIYNA DYDY 19NN NN 93 Y09 29 BHN INYY

ann» 1w (they sent from there) it refers to 11''2%9, when the X773 says 9% 1onm%

N29wn2 (they mocked it in the west) it refers to R''1 -.
- PIOON NN 23U 5919 NI NIIN 92 Y01 %299 DN INYY NN T°99)

And the X713 there asked, but we find that it says X% 1''299% an» 15w, etc. (they
sent from there to 1''397), so how can you say that on» %% means 11"2>7, and the

X131 answered, rather reverse these two; meaning X"7 — an» 15w and — X2wna 7Y 10M

n"2°7. This concludes the citation from the X313. The question is, according to *"¥", the &72) -
= INY NIMT XN MMNIVD 1YY "N

Should have answered, wherever it is evident that it cannot be 11", it is
different, just as >"v1 answered regarding X117 21 —

An additional question on 2"2w" >"w1o:!6
= 179755155 19100 NPNY NXINN 29 DIVN NN 29 9NV DI 191 NIT M)

And furthermore, it is not conceivable at all that X137 29 should say over

something from X117 29, who was a student of s'X1%7 29 student -
:T2 IND PPINAY PN (8,30 97 p2rvyy 13990 W2 ¥NRYNTI

15 In this case it is evident that the 27 *2 is not X217 27, therefore we say it is X112277 27, however where it is not evident
that it cannot be X117 27, we assume it to be X117 20
16 They both maintain that the X723 in 7777710 concludes that when it stated 27 °27 12X K117 27 K it is referring to 27
X117, meaning that X177 27 said over something in the name of X117 21
17 However, according to mson that the answer was that the proper reading is 27 °27 *X X117 27 1R, it is conceivable
that X111»77 21 repeated something from his teacher’s teacher.
18 X117 21 was a student by X701 27, and X707 21 was a student by X7 2.
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As it is indicated in the beginning of 977 p75. And there is no need to elaborate
here regarding this issue.

Summary
According to *"w7 and the 2"2w" the 27 °27 "20 refers either to the students or 219

X117 (except where it is evident otherwise). However, according to n1901n, it refers
to X177 29.

Thinking it over
1. Why was it necessary for the 2"2w to delete the word 'm5'?°

2. The question in 17177710, 2° how can you say that 21 °2 is X117 27, when we find X
27 °2 7R X177 27; would seem to mean that we find in various places this expression,
27 °2 >R K117 27 MR (not just once). According to N1 that would mean that every
time we find the phrase 27 °2 »7X X117 27 1K, it needs to be changed to X111 27 MK
27 °2 > mR. This seems even more radical than how *"@ resolves the contradiction!

19 See footnote # 7.
20 See footnote # 12.
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